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Q.2       b. Explain the functions of the Switching System.   
 
Answer: Page Number 56 of Text Book  
 
Q.3     a.  During the busy hour, 1200 calls were offered to a group of trunks 

and six calls were lost.  The average call duration was 3 minutes.   
    
   Find: 
   (i)   The traffic offered (ii)  The traffic carried 
   (iii) The traffic lost (iv) The grade of service 
   (v)  The total duration of the periods of congestion   
 
Answer: Page Number 91 of Text Book  
 
             b.   Explain  
   (i)     Unit of traffic (ii)   congestion  
 
Answer: Page Number 88, 90 of Text Book  
 
Q4     b. Design a three stage network for connecting 100 incoming trunks to 

100 outgoing trunks.   
 
Answer: Page Number 134 of Text Book  
 
Q.6  a. Explain the sequence of operations of call processing functions.  
 
Answer: Page Number 177 of Text Book  
 
             b.   What is State Transition diagram?   
 
Answer: Page Number 183 of Text Book  
 
Q.7    a. Explain the three bytes of signal units.  
 
Answer: Page Number 223 of Text Book  
 
   b. What are the advantages of common-channel signalling principles?  
 
Answer: Page Number 218of Text Book  
 
  c. Draw the block diagram of Voice Frequency Receiver.  
 
Answer: Page Number 212 of Text Book  
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Q.8      b. An ATM network uses transmission links that operate at 150 Mbit/s 
and have a propagation delay of 5µs per km.  It uses cells of length 53 
octets, consisting of a 5-octet header and 48-bit information field.  The 
maximum delay introduced by a switching centre is 300 cells.  Find 
the maximum delay encountered by a telephone call over a connection 
of length 500 km that passes through six switching centres.  

 
Answer: Page Number 248 of Text Book  
 
Q.9  a. Write down the main advantages of ISDN.  Give a brief description of 

ISDN protocol architecture.   
 
Answer: 

 
  
ISDN protocol architecture – 
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Fig. ISDN protocol architecture 
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  b. What is an intelligent network?  Explain 
    
   (i)     Node software. 
   (ii)    Service logic programs. 
        (iii)   Service logic execution environment. 
 
Answer: Page Number 270 of Text Book  
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